open searchixfl{3

package com.granwin.customer.util.aws.search;
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com.alibaba.fastjson.JSON;
alibaba.fastjson.JSONObject;
granwin.common._enum.ApiResultEnum;
granwin.common._enum.OpenSearchResultEnum;
granwin.common.entity.opensearch.Problem;
granwin.common.response.DefaultResponse;
granwin.common.response.FailResponse;
granwin.common.response.Response;
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.http.HttpHost;

.http.auth.AuthScope;
.http.auth.UsernamePasswordCredentials;
.http.client.CredentialsProvider;
.http.impl.client.BasicCredentialsProvider;

opensearch.client.RestClient;
opensearch.client.json.jackson.JacksonJsonpMapper;
opensearch.client.opensearch.OpenSearchcClient;
opensearch.client.opensearch._types.OpenSearchException;
opensearch.client.opensearch.core.*;

.opensearch.client.opensearch.indices.*;
.opensearch.client.transport.rest_client.RestClientTransport;

s1f4j.Logger;

s1f4j.LoggerFactory;
springframework.beans.factory.annotation.value;
springframework.stereotype.Component;

.i0.I0OEXception;
.lang.reflect.ParameterizedType;
.lang.reflect.Type;
.util.objects;

@Component("com.granwin.customer.util.aws.search.OpenSearchutil")
public class OpenSearchutil {
private Logger log = LoggerFactory.getLogger(getClass());

@value("${open-search.ur1}")
private String url;

@value("${open-search.username}")
private String username;

@value("${open-search.password}")
private String password;

@value("${open-search.port}™)
private Integer port;

private OpenSearchClient openSearchClient;
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try {
final CredentialsProvider credentialsProvider = new

BasicCredentialsProvider();
credentialsProvider.setCredentials(AuthScope.ANY,
new UsernamePasswordCredentials("granwin", "Granwin888."));

RestClient restClient = RestClient.builder(new HttpHost("search-

granwin-es-s2i6fyqud46o02uabv4y3rwcsqym.us-west-2.es.amazonaws.com",443,"https")).
setHttpClientConfigcallback(httpClientBuilder ->

httpClientBuilder.setbDefaultCredentialsProvider(credentialsProvider)).build(Q);

RestClientTransport restClientTransport = new
RestClientTransport(restClient, new JacksonJsonpMapper());

this.openSearchClient = new OpenSearchClient(restClientTransport);

}catch (Exception e){
Tog.error("oOpensearchutil¥&itFm") ;
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* @param index
* @return
*/
public Response creatIndex(String index){
CreateIndexRequest createIndexRequest = new
CreateIndexRequest.Builder().index(index) .build(Q);
try {

CreateIndexResponse createIndexResponse =
openSearchcClient.indices().create(createIndexRequest);
} catch (Exception e) {

log.error ("8RG KK ;
e.printStackTrace();
return new FailResponse(ApiResultEnum.FAIL,"fl&Z5[RK");

}
return new DefaultResponse();
}
Vi
* WHERT A RNE A
* @param 1index
* @param replicas ElA%=E “0-all”
* @return
*/

pubTic Response setIndex(String index,String replicas){
IndexSettings indexSettings = new
IndexSettings.Builder().autoExpandReplicas(replicas).build();
PutIndicesSettingsRequest putIndicesSettingsRequest = new
PutIndicesSettingsRequest.Builder().index(index).settings(indexSettings).build()
try {
PutIndicesSettingsResponse putIndicesSettingsResponse =
openSearchClient.indices().putSettings(putIndicesSettingsRequest);
System.out.printIn(JISON.toJSONString(putIndicesSettingsResponse));
} catch (Exception e) {
Tog.error (" EZGI K" ;
return new FailResponse(ApiResultEnum.FAIL,"#%&ZR5[EMK");



return new DefaultResponse();

}
/‘,': *
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* @param data @INAEE
* @param index &3
* @return
*/

public Response addbata(Object data,String index){
IndexRequest<Object> indexRequest = new IndexRequest.Builder<>
() .index(index) .document(data) .build(Q;
try {
IndexResponse indexResponse = openSearchClient.index(indexRequest);
if (!'Objects.equals(indexResponse.result().jsonvalue(),
OpenSearchResultEnum.create.getName())){
return new FailResponse(ApiResultEnum.FAIL,"ZINEHE L") ;
3
}catch (OpenSearchException e){
/IS
Response response = creatIndex(index);
if (response.getCode() != ApiResultEnum.SUCCESS.getId()){
return new FailResponse(ApiResultEnum.FAIL,"HINEdERM, Z5] 614 %
") ;
3
try {
IndexResponse indexResponse =
openSearchClient.index(indexRequest);
} catch (IOException ex) {
Tog.error ("R I ;
return new FailResponse(ApiResultEnum.FAIL,"ZINEIERL™) ;

}
catch (Exception e) {

log.error (" MNEARE ™) ;

return new FailResponse(ApiResultEnum.FAIL, " AN ;
}

return new DefaultResponse();
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* @param data
* @param id ¥iEid
* @return
*/
pubTlic Response updateData(Object data,String id,String index){
UpdateRequest<Object, Object> updateRequest = new
UpdateRequest.Builder<>().index(index).id(id).doc(data) .build();
try {
UpdateResponse<Object> updateResponse =
openSearchClient.update(updateRequest, Object.class);
if (!'Objects.equals(updateResponse.result().jsonvalue(),
OpenSearchResultEnum.update.getName())){
return new FailResponse(ApiResultEnum.FAIL," 5 HAudE2m™) ;
3
} catch (Exception e) {
Tog.error ("HH LM, index={} 1id={}",index,id);



return new FailResponse(ApiResultEnum.FAIL,"##HEHEK™);
}

return new DefaultResponse();
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* @param index
* @param id
* @return
*/
pubTic Response deleteData(String index,String id){
try {
DeleteResponse deleteResponse = openSearchClient.delete(b ->
b.index(index).id(id));
if ('Objects.equals(deleteResponse.result().jsonvalue(),
OpensSearchResultEnum.delete.getName())){
return new FailResponse(ApiResultEnum.FAIL,"MIEHELK™) ;
3
} catch (Exception e) {
Tog.error ("MIFEEHE M, index={} did={}",index,id);
return new FailResponse(ApiResultEnum.FAIL," 5 #HudLm™) ;
3

return new DefaultResponse();

ik
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* @param index
* @return
*/
public Response deleteIndex(String index){
DeleteIndexRequest deleteRequest = new
DeleteIndexRequest.Builder().index(index).build();
try {
DeleteIndexResponse deleteIndexResponse =
openSearchClient.indices().delete(deleteRequest);

} catch (Exception e) {
Tog.error("MIFE2 5 %M, index={}",index) ;
return new FailResponse(ApiResultEnum.FAIL,"MIFEZ51%M");

3

return new DefaultResponse();

pubTic opensSearchcClient getOpenSearchClient(){
return openSearchcClient;

VaciU:s
SearchResponse<SmartReply> searchResponse = openSearchcClient.search(s ->
s.index(INDEX) .sort(sort->sort.field(field-
>field.field("count") .order(Sortorder.Desc))), SmartReply.class);*/
/%
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int pageSize = 1;
int pageNum= 1;



SearchResponse<SmartReply> searchResponse =
openSearchClient.search(s -> s.index("smart-
reply").from(pageNum*pageSize) .size(pageSize), SmartReply.class);*/

}
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